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D-5146
M.A. (IVth Semester) Examination, 2020

ECONOMICS

(Agricultural Economics : Issues & Policies)

Time Allowed : Three Hours

Maximum Marks : 70

Minimum Pass Marks : 25

KeC[ - De

SECTION - A

veesš : efkeâvneR ome ØeMveeW keâes nue keâerefpeS~ ØelÙeskeâ ØeMve Skeâ Debkeâ keâe

nw~ 1×10=10

Note : Attempt any ten questions. Each question carries

one mark.

Q. 1. Jemlegefve‰ ØeMve :

Objective type :

(i) Yeejle ceW MJesle›eâebefle ......... Glheeove mes mebyebefOele nw~

White revolution is related to _____

production in India.

(ii) pegueeF& 12, 1982 mes ke=âef<e hegveefJe&òe SJeb efJekeâeme efveiece

kesâ meeLe efceuekeâj keâeÙe& keâj jne nw .........~
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On July 12, 1982 The Agricultural Re-finance

and Development Corporation (ARDC)

collaborated with _____.

(iii) efJeòeerÙe #es$e ceW megOeej kesâ efueS Deiemle 2007 ceW .........

keâer DeOÙe#elee ceW GÛÛemlejerÙe meefceefle keâe ie"ve efkeâÙee

ieÙee~

A higher level committee for finance sector

reform in August 2007 constituted under the

chairmanship of _____.

(iv) Yeejle ceW DeefOekeâlece petš Glheeokeâ ØeosMe keâe veece

......... nw~

The name of maximum Jute production state

is _____ in India.

(v) YeejleerÙe mšsš yeQkeâ keâe je°^erÙekeâjCe ......... keâes ngDee~

The State Bank of India was Nationalised in

_____.

(vi) Yeejle ceW veerueer ›eâebefle mebyebefOele nw :

(De) celmÙe heeueve

(ye) KeeÅe Glheeove

(me) ogiOe Glheeove

(o) FveceW mes keâesF& veneR
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(3) (4)

The Blue Revotution in India related to :

(a) Fish production

(b) Food production

(c) Milk production

(d) None of these

(vii) Yeejle keâer pevemebKÙee, 2011 keâer peveieCevee kesâ Devegmeej

Leer :

(De) 1,210,854,977

(ye) 1,360,054,000

(me) 1,513,132,202

(o) FveceW mes keâesF& veneR

The population of India as per 2011 census

was :

(a) 1,210,854,977

(b) 1,360,054,000

(c) 1,513,132,202

(d) None of above

(viii) Yeejle keâe meyemes DeefOekeâ iesntB Glheeokeâ ØeosMe keâe veece nw :

(De) Gòej ØeosMe

(ye) ceOÙe ØeosMe

(me) efyenej

(o) efouueer

The largest wheat producing state in India is :

(a) Uttar Pradesh

(b) Madhya Pradesh

(c) Bihar

(d) Delhi

(ix) Yeejle keâe DeefOekeâlece ogiOe Glheeokeâ jepÙe keâe veece nw :

(De) Gòej ØeosMe

(ye) ceOÙe ØeosMe

(me) iegpejele

(o) nefjÙeeCee

The highest milk producing state in India is :

(a) Uttar Pradesh

(b) Madhya Pradesh

(c) Gujarat

(d) Haryana

(x) Yeejle ceW, uecyeeF& ceW meyemes yeÌ[er veoer nw :

(De) yeÇÿeheg$e

(ye) iebiee

(me) Ùecegvee

(o) ieesoeJejer

In India, the largest river in length is :

(a) Brahmaputra

(b) Ganga

(c) Yamuna

(d) Godavari
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(xi) ÚòeermeieÌ{ ceW kegâue efkeâleves efpeues nQ ?

(De) 20

(ye) 27

(me) 28

(o) 30

How many districts are in Chhattisgarh :

(a) 20

(b) 27

(c) 28

(d) 30

(xii) ÚòeermeieÌ{ keânueelee nw :

(De) Oeeve keâe keâšesje

(ye) pJeej keâe keâšesje

(me) iesntB keâe keâšesje

(o) FveceW mes keâesF& veneR

Chhattisgarh is called :

(a) Rice bowl

(b) Jowar bowl

(c) Wheat bowl

(d) None of above

KeC[ - ye

SECTION - B

veesš : efkeâvneR heeBÛe ØeMveeW keâes nue keâerefpeS~ ØelÙeskeâ ØeMve 2 Debkeâ keâe

nw~ 2×5=10

Note : Attempt any five questions. Each question carries

two marks.

Q. 2. Deefle ueIeg GòejerÙe ØeMve (25-30 Meyo) :

Very short answer type (25-30 words) :

(i) je°̂erÙe ke=âef<e SJeb «eeceerCe efJekeâeme yeQkeâ keâe DeLe& yeleeFS~

Write down the meaning of National Bank for

Agriculture and Rural Development (NABARD).

(ii) yeepeej keâercele keäÙee nw ?

What is market price ?

(iii) peve Meefòeâ efveÙeespeve mes Deehe keäÙee mecePeles nQ ?

What do you mean by man power planning ?

(iv) iejeryeer keâer heefjYee<ee efueefKeS~

Write down the definition of poverty.

(v) cevejsiee mes Deehe keäÙee mecePeles nQ ?

What do you mean by MNREGA ?

(vi) mJe-meneÙelee mecetn mes Deehe keäÙee mecePeles nQ ?

What do you mean by self help group ?

(vii) «eeceesÅeesie keâes heefjYeeef<ele keâerefpeS~

Define the cottage industry.

KeC[ - me

SECTION - C

veesš : efkeâvneR heeBÛe ØeMveeW keâes nue keâerefpeS~ ØelÙeskeâ ØeMve Ûeej Debkeâ

keâe nw~ 4×5=20
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Note : Attempt any five questions. Each question carries

4 marks.

Q. 3. ueIeg GòejerÙe ØeMve (250 Meyo) :

Short answer type (250 words) :

(i) ke=âef<e $e+Ce keâer mecemÙee mecePeeFS~

Describe the problem of Agricultural Finance.

(ii) ke=âef<e ueeiele Je cetuÙe DeeÙeesie kesâ keâeÙe& mecePeeFS~

Describe the working of Agriculture Cost and

Price Commission.

(iii) yesjespeieejer kesâ keâejCeeW keâer JÙeeKÙee keâerefpeS~

Explain the causes of unemployment.

(iv) iejeryeer keâer DeJeOeejCee keâes mecePeeFS~

Describe the concept of poverty.

(v) meeJe&peefvekeâ efJelejCe ØeCeeueer kesâ DebieeW keâer JÙeeKÙee

keâerefpeS~

Explain the parts of Public Distribution

System (PDS).

(vi) Yeejle ceW menkeâejer Deevoesueve keâer GheueefyOe yeleeFS~

Explain the achievements of co-operative

movement in India.

(vii) Yeejle ceW MJesle ›eâebefle hej efšhheCeer efueefKeS~

Write down a short note on white revolution

in India.

KeC[ - o

SECTION - D

veesš : efkeâvneR leerve ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve ome Debkeâ keâe

nw~ 10×3=30

Note : Attempt any three questions. Each question

carries 10 marks.

Q. 4. efveyevOeelcekeâ ØeMve (500 Meyo mes DeefOekeâ) :

Essay type question (more than 500 words) :

(i) «eeceerCe $e+Ce«emlelee hej efveyevOe efueefKeS~

Write down an essay on problems of rural

indebtedness.

(ii) Yeejle ceW kegâkeäkegâš heeueve hej efveyevOe efueefKeS~

Write down an essay on poultry farming.

(iii) Yeejle ceW heMegOeve efJekeâeme Je hebÛeJe<eeaÙe ÙeespeveeDeeW keâer

JÙeeKÙee keâerefpeS~

Explain the Indian livestock development &

five year plan.

(iv) Yeejle ceW ke=âef<e Glheeo ceW cetuÙe efveOee&jCe keâer JÙeeKÙee

keâerefpeS~

Explain the price determination of agricultural

products.
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